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For each question from 1 to 28, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade your answer on the Optical Answer Sheet.

(56 marks)
1. Which is the main reason why bread mould is not considered a piant?
(y 1 reprbduces by spores,
(2) It does not have flowers.
(3) Itis not found in the garden.
(4)  Itdoes not have chiorophyll.
2. Study the flowchart.
Materials
Is it transparent? M A
G
- Yes Yes
Is it waterproof? i Is it flexible? ' D
r r
B C
Tom used a cover to protect his car.
cover

Which material, A, B, C or D, is best used to make the cover?

(M A
(2) B
3 C
(49 D
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3. Linus set up the following experiment te find out if strips X, Y and Z are made of
magnetic material. He placed each strip between two similar magnets. The
results are as shown.

]

Strip X Strip Y - StipZ

Which strip(s) isfare definitely made of non-magnetic material?

(1) Yonly
(2) Zonly
(3) Xand Zonly
(4) XandYonly

4, Which method(s) isfare not used to increase the strength of an electromagnet?
A Adding more batteries to the circuit. | |
B Heating the iron rod of the efectromagnet over a flame.
C  Wrapping more coils of wire around the iron rod in the electromagnet.

{1) Aonly
(2) Bonly
(3) AandConly
(4) BandConly
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5. Marcus set up an experiment as shown. As he slid a strong bar magnet from left
to right at the same distance from the piate, he recorded if the magnet interacted
with the iron ball. He repeated the experiment with similar sized plates made of

different materials.

o e o

4

O

riate  —— N

bar magnet

S

sliding from
left to right

Which observations made by Marcus are true? -

iron ball suspended
in the air by a string

Plate Interaction between
magnet and iron ball
A Glass No
B Copper Yes
C Steel No
D Cardboard ~ Yes
(1) AandConly
(2) Aand D only
(3) Band Conly
{4) B,CandDonly

ACS (Junior) P5 Semestral Assessment 2021

www.testpapersfree.com

BP-286_



5

6. A group of students planted the same number of identical seeds into equal
amounts of soil and placed them in rooms at different temperatures. They
recorded the number of seeds that germinated at the end of each day in the

table.
Temperature Total number of seeds that germinated
) Day 1 Day 2 Day 3 Day 4 Day 5
5 0 0 0 0 1
16 0 0 3 5 7
30 0 2 6 14 18

Which conclusion is comrect?

(1)  No seeds germinated at 5°C.

(2) All the seeds gemninated at 15°C

(3) The seeds germinated the fastest at 30°C.

(4) The best temperature for seeds to germinate is 15°C.

7.  Which function of the human body system is incorrect?

Human body system Function
I oy Girculatory system T’a"s"gl?::n"ﬁj"ﬂj: m?m to
{(2) Digestive system Br;;k:[:g\:;'lsig?‘g;i;b
(3) Muscular system Supports the body
4 Skeletai system Gives the body its shape

ACS (Junior) P5 Semestral Assessment 2021
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8. Which of the following is/are animai cells?

Cell A Cell B CellC Cell D
(1) Donly
(2) AandB only
(3) CandD only
(4) A Band Conly

9. Patrick mixed some red-coloured water and yellow-coloured water in a beaker. He observed
that the colour of the water tumed orange after mixing.

He then cut the stalk of a white rose and placed each cut stalk into fwo separate beakers,
one with red-coloured water and the other in yellow-coloured water.

red-coloured water

white rese
petals

yellow-coloured water

What would the colour of the white rose petals change to after a day?

(1)
(2)
(3)

orange only
red and yellow only
orange and red only

(4) orange and yellow only
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10.  Which two staternents are true?

A

B
C
D

(1
(2)
(3)
(4)

11. Bala camied out three different activities, P, Q and R for 30 minutes. He measured
his heart rate and breathing rate immediately after completing each activity. He

Both plants and animals respire to give out oxygen.

Both plants and animals respire and photosynthesise.

Only plants take in carbon dioxide and give out oxygen.

Both plants and animals take in oxygen and give out carbon dioxide

when they respire.

Aand B
Aand D
Band C
CandD

recorded the readings in the table as shown.

Activity Heart rate (per min) | Breathing rate {per min)
P 75 35
Q 135 65
R 110 50
What activities can P, Q and R likely be?
P a R
(1 " Running Resting Walking
{2) Resting Walking Running
(3) Resting Running Walking
(4) Walking Running Resting
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12. Denzel constructed a circuit by connecting an identical battery, three identical
bulbs and two identical swilches in working condition. He closed one of the two
switches and found that all three bulbs lit up.

Which two of the foliowing are possible circuits constructed by Denzel?

R o, —
LT -

—i ¢ T_ f 3

®— ,
WJ mj B

Cc

(1) AandB
(20 AandC
(3) BandD
() CandD

13.  Study the circuit diagram with bulbs and batteries in working condition.

1 weoeden ruler

Q- {3
copper coin [‘] sreser ¥ ¢ 5 ®2
@3 III' pencit lead -

Which bulbs will light up?

(1) 1,3and4only
(2) 1,3and5only
(3) 2,4andSonly
(4) 3,4andSonly
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14, Thaddeus bought a buzz wire game as shown. He must move the metal ring
from one end of the board at P to the other end at Q, without touching the metal
structure. If the metal ring touches the metal structure, the buzzer will sound.

metal ring

metal structure

_ - buzzer
I

wooden board

Why will the buzzer sound continuously while the metal ring is touching the
metal structure?

(1)
(2)

(3
4

The metal ring provides the energy needed for the buzzer to sound.

The buzzer fuses when the metal ring comes into contact with the metal
structure. '

The wooden board forms a closed circuit with the wire and metal
structure.

The metal ring closes the circuit when it comes into contact with the metal
structure.

15.  Alex placed a block of ice on a table in his classroom. After a while, Alex
observed some water forming around the block of ice as shown,

block of ice <
8 .

Which of the following is/are correct?

W
X
Y
Z

(1
(2)
(3)
(4)

The water gained heat from the ice.

The ice gained heat from the sumounding air.

The surrounding air gained heat from the water.
The temperature of the ice increased during melting.

X only
Z only
X and Y only
W and Z only
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16.  The diagram shows the growth of a seed o a young plant.

({— —

P a
What are P and Q?

P | Q
B A
A 3
& e
o B

ACS (Junior) PS5 Sermestral Assessment 2021
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17.  Sam made the following observations about the life cycle of an animal.

» There are four stages in its life cycle.
» The young lives in water but the adult lives on land.

Which animal was Sam observing?

(1) frog
(2) butterfly
(3) mosquito

(4) cockroach

18. Dan had two similar boxes, P and Q, each with a capacity of 500 cm®. He
placed a 100 cm? plasticine ball inside box P. Both boxes were then sealed
with an air-tight cover as shown. An additional 200 cm? of air was pumped into
both boxes P and Q using a pump.

air-tight cover
[ 7 ]
box P 100 em? box Q

plasticine ball

What is the final volume of air in each box?
Box P Box Q
(1) 400 cm® 500 cm?
(2) 400cm® 700 cin®
(3) 500 cm? 500 cm?®
(4) 600 cm? 700 cm?

ACS (Junior) P5 Semesiral Assessment 2021
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19.  Mandy classified three fruits using a flowchart.

Fruit P Fruit Q Fruit R

Fruits

Question A

Fruit P
Question B Fruit Q
Fruit R
What are questions A and B?
Question A Question B

(1) Does it have a pod? Is it dispersed by wind?
(2) Does it have a fibrous husk? Is it dispersed by explosive action? -
(3) Does it have a pod? Is it dispersed by explosive action?
{4) Does it have a fibrous husk? Isit diSpersed by wind?

ACS (Junior) P5 Semestral Assessment 2021
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20.  Thediagram shows the cross-section of two flowers X and Y from different planis.

Flower X

13

FlowerY

Which of the following about flowers X and Y are correct?

Flower X

Flower Y

(1)

It can develop into a fruit.

| It has both male and female

reproductive cells.

(2)

It cannot develop into a fruit.

It does not need to be pollinéted o
develop into a fruit.

(3)

It has male reproductive cells.

it does not need to be pollinated to
develop into a fruit.

(4)

It cannot be pollinated.

it has both male and female

- reproductive cells.

ACS {Junior) P5 Semesiral Assessment 2021
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21 The diagram shows a flowering plant.

What are the functions of the parts labelled X, Y and Z?

r4

X Y

{1) | Tomakefoodforthe | To take in sunlightfor | To transport food to tiae
plant the plant leaf '

(2) | Togrowinto a new To grow into a fruit To absord sunlight for
plant the piant

| (3) | Tomake food for the | To hold the plant upright | To absorb water for the

plant plant

(4) | To absorb water for the |  To store seeds for the To grow into a flower
plant ptant

ACS (Junior) P5 Semestral Assessment 2021
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22, Three identical containers, P, Q and R, are filled with equal volumes of water at
different temperatures and covered with identical lids. They are placed in the same

room.

Water droplets formed on containers Q and R as shown.

- lid

------

-------
------

------
------

-------
------
-------

wafer
droplets

r water
eropiets

Container P Container Q

Container R

Which graph shows the correct temperature of water in each container at the start of
the experiment?

M T?mpemmre of water ("C}
F

- 100
80
60
40
20

0

(3) 100
80

60

40

20

0

Tﬁm perature of water ("C}

ACS (Junior) P5 Semestral Assessment 2021
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(4)

100

Te

100

60

20

www.testpapersfree.com

Temperature of water ("C)
F 3 )

smperature of water ("C)




23. The diagram shows the changes in state of a substance.

16

b A
c B
What are processes B, C and D?
B c D
(1) boiling evaporation - freezing
{2) boiling condensation evaporation
(3) evaporation condensation freezing
(4) evaporation freezing condensation

ACS (Junior) P5 Semestral Assessment 2021
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24.  The diagram shows the water cycle.

B/y’ clouds \C

water vapour

S

sea water

Which of the following is correct?

rain

—

Heat is gained at Heat is lost at
(1) A B
{2) A c
(3) B C
{4) C A

25. The diagram shows the hurnan male and female reproductive systems.

Which two parts, P, Q, R or S, produce reproductive cells?

(1)
(2)
(3
4

Pand R
Pand S
Qand R
Qand S

ACS (Junior) P5 Semestral Assessment 2021
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26.  Peter prepared the set-up as shown.

container of
water at
25°C

Five minutes after Peter placed the cloth on the flask, he observed a change.

Which of the following observation did he make and what was the reason for
his observation?

Obsérvation ' Reason
(1) | Water rose up the tube. Air in the flask lost heat fo the cloth,
(2) | Water rose up the tube. ~ Airiri the flask contracted.
(3} | Bubbles escaped at part X. Air in the flask has more mass,
(4) | Bubbles escaped at part X. | Airin the flask takes up more space.

ACS (Junior) P5 Semestral Assessment 2021
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27. The set-up shows light shiﬁing on three objects, A, B and C, made of cardboard,
placed at different distances from a lighted torch.
- - —— screen
— I 10 cm 10cm 10 cm
A B C
lighted torch

The diagram below shows the shadow formed on the screen.

What are objects A, B and C?

O A1
A O 1
A 1 0O
O 1 A

ACS (Junior) P5 Semestral Assessment 2021
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28. Jeremy was walking from Jto L, passing by a lamp.

_:‘iF‘“ lamp
"
R
J 'K L
Which graph shows how the length of Jeremy's shadow changes as he walks from J to
L?
(1) Length of *
shadow
(cm)
2) Length of
@ shadow
{cm)
, . - Length of ? E
) shadow
(cm)
J K L
A
{4) Length of
shadow
(cm)
J K L
End of Booklet A
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30 Timothy carried out an experiment in a dark room with the set-up shown. He
arranged three sheets made of different materials, W, X and Y, in a straight line.

bright patch
|
triangular | of light
hole
sheet ¥
sheet X
torch sheet W

When the forch was switched on, Timothy observed that a bright patch of light in the
shape of a triangle was seen on sheet Y only.

(a)_ State the property of light shown in this experiment. i}
{(b) - State the property of sheet W and sheet X. (1]
Sheet W: _
Sheet X:

.{c) What wiil happen to the size of the bright patch of light on sheet Y if he moves
sheet W closer to the torch? Explain your answer. (1

ﬁgnothy thert moved sheet Y in front of sheet X.

friangular

‘hole
sheet X

_ “sheet Y
torch shest W

(d) Would Timothy observe a bright patch of light in the shabe of a triangle on sheet
X when the torch is swiiched on? Give a reason for your answer.

{Go on to the next page)
SCORE
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31 Mei Li wanted 1o find out how the colour of containers affect the rate at which water
in the containers gained heat, '

She prepared two set-ups as shown using containers of different colours and simitar
- thermometers and placed them in the garden under the Sun for two hours, |

black __thermometers black
IS N [/ ld

id |
i f— 1 soml |
. ] of
Whl?e H ‘ water } black
container ™ i 1t \ }— container
30°C
-
Her results are shown in the graph.
Temperature of :
water (°C) Setup B
Séf—i}p A
{a). Based on the results, what can Mei L c_:dnciudé about her experiment? M
(o) What two other variables must she keep the same to ensﬁr_é afartest? 1]

" (Goonto the next page)
SCORE g j
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(c) Based on the resuilts, which colour, black or whits, is more suitable o be used
to paint park benches for people who visit the park in the aftemoon? Explain o
whv.

(d) Which material, steel or wood,; .v;tould be mo_ré suitable to make the park
benches for the people who visit the park in the afternoon? Give a reason for
YOUr answer,

(11

" +(Goontothe next page) |
SCORE
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32 Shidey investigated how different amount of light affects the rate of photosynthesis
-of different water plants.

She set up the experirhent using water p.lani X and carried out the experiment in a
dark room as shown. She counted the number of bubbles produced by the plant
every 10 minutes and repeated the expefiment using water plant Y.

: | “et— inverted test tibe
o lamp - - Es r '
: iy o 5 " }——— beaker

iy _ 34— water

= water plant X

.She': recorded the results fn the graph. '

Nulmber.c__zf 7 _
bubbles &g f—— _ |
(per min) 1 :
SRS R ; Key:
. &0 : — . : 4 -
| 0 S Yy - | PlantX ===~~~
o . - . o
30 _e” / Plant Y ——
R . . ._ _
o 1 -, Amount of light

0 10 20 30 40 50 60 70 80 90 w0 (unit)

{2) Wﬁat is the --reiatianﬁhip -between the amount of f_ight_ and the rate éf

“photosynthesis for plant Y? {1]

(b) State the gas the bubbles contain, - S T ¢
(c) Based on the results aboVe, which plant, X or Y, is more suited to grow in a

pond with 50 units of fight or less? Explain your answer. 1]

P (("-:‘_-'D_On"ib*the next page) -
PR | | SCORE | -~
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33 The table shows four matters.

Steam Mi_St
Water vapour Rice grains
~

(a) Ciassify the four matters in the classification chart according to their states.

Matter

Solid

Liquid

Gas

{b) The four matters may be reclassified dEﬁeEé:ntlg based _bn' their properties.
Complete the sub-headings in the classification chart below.

Matter

ACS (Junior) PS5 Semestral Assessment 2021
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(i) Have a ﬁxed‘ (ii)_jDo‘es riot__have a fixed
Rice grains Water vapour -
Mist Steam
- (Go onto the next page)
| “SCORE

www.testpapersfree.com

BP-~309




BP-~310

34  Study the diagram.

(a) State the process that is teking place. | "

The diagram shows ar unborn human baby. .

(b) Foreach'statement tick (v} iftis ‘Triie* or False’. 2]

_Jrue | False

() | Thebaby developed from aferﬁlised-elgg_ |

(i) ?-The baby grows in the mothefs stomach

| (E)- _'The unbom baby does not need any food at
a -'ihis stage. _

1 Cells of the baby Contain genetic mfo#mahon'

(“_'_')- from both the mother and the father.

o {Gé'ﬁ*.?f?-,tdfhejrieﬁxt page).
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35 The diagram shows the water cycle.

(a) What are the states of water at X and Y? [1]
X Y:
(b) Describ_e how Y is formed in the water cycle shown. _ {21
... {Goon to the next page}
'SCORE
3
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- 36 Jack heated salt water using set-up X until a liquid was collected in the test-tube as
. shown. The condenser is used for condensmg water vapour

waterout . - oondenser

8/ .

salt water in flask 'cbid water in liquid in.
' o ' " test-tube
_ | Sét-upx .
(é} Which process{es) occurred in 'set~up__>§? chk {¥') the correct box(es). . [1}
Process .  Tick {v) |
Condensation - |
Evaporation ,  |
 Boiling
Memng

(b} Name the sci;d ieﬁ m ihe ﬂask at the end of 1he expenmen{ and j:he I!quid thai

‘is collected in the test—tube o 11] :
i - Solid: | .
Liguid:
{c) Describg what happens to water va’po'tjf that enters fhé:giasé tube. SR 1
(Go onifo the nexi page)__ '

SCDRE
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(d) Water at 15°C enfers the condenser at A and water at a higher temperature
than 15°C leaves the condenser at B. Give a reason why the temperature of
the water increased. . (1]

Jilf repeated the expenment with the same volume of salt water using set-up Y as
shown.

condenser
water out

salt water in flask liquid in

cold water in test-tube

Set-up Y

{e) The length of the condenser in set-up X is Eonger than that in set-up Y. How

does this affect the voiumes of liquid collected in both set—ups‘? . _ 1
(Goon to the next page)
" “SCORE
2z
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37  Jeffery wanted to investigate how the number of new working batteries affect the
number of paper clips attracted by an electromagnet using the set-up.

y
"

-He placed the iron rod 1 cm from some paper clips and counted the number of paper
clips that were atiracted to it. -

His resuiis are shown in the gr_a;ph.

SR )

o280 4 number of
T R TR batteries
- {a) _E_Xplain why the paper 'c-f_ip'srwére attracted by the iron rod when the switch is {’f] |
' - closed. . . ' o

) ‘Stiggest a reason why ihe number of paper clips attracted to the electromagnet
' - - remained the same when the number of batteries was three and four. . . [1]

{6) Explain why placing the tray of paper dlips 1 cm away from the iron rod
throughout the experiment ensures that it is a fair test. o - [1}

(Go on 1o the next page) -
© SCORE |.

| ACS (Junior) P5 Semestral Assessment 2021 N Y

www.testpapersfree.com



BP-315
13

38  Gordan conducted an experiment to find out how the contact surface area of food
exposed to digestive juices affects the speed at which food is digested. N

Gordan used two identical beakers, 200 g of food, and 1000 m! of digestive juice to
prepare set-ups 1 and 2. .

(a) In the space given; use a ruler to draw and label set-up 2 to test the aim of his

experiment. The beakers have been drawn for you. [1]
digestive
juice
600 mi : beak 600 mi -
' . ] bea er\_
B .\ I > } 100 g of B
B food B
womlb @ 100 mt -
Set-up 1 Sef-up 2

{b} Inwhich set-up, 1 or 2, will the mass of food be smaller after two hours? Explain
your answer. ' _ {2

* (Go ofi fo the hext page)
SCORE |
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39 Plant X is commonly found in deserts where temperatures are high in the day and
low at night. It is able to store air in its leaves.

Quincy observed the cells of a leaf of pia.nt X during the night and day as shown.

tiny opening

Nigt =~ . Day
8°C) . @e°T)

(a) State the function of the tiny openings on leaves. Iy

(b) State a reason why the tiny open_ingé‘i of plant X féfé closed during the day. m

- (c) - Based on plant X's ability to sicre air in. its leaves, explain how it is able to

 photosynthesise in the desert in the day although its tiny openings are closed. [1]

'SCORE - |-
| 3
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40 The tables show the average resting heart rate of males who exercise daily,

Males who exercise daily
. Average resting
Age heart rate per
minute
18-25 52
- 26-35 54
36-45 58
46-55 59
(a) State the relationship between age and ave'ra__ge resting heart rate. 1]

The picture shows a male exercising.

(b} Explain why our heart rate increases when we exercise. - 2]
{Go on to the next page)
SCORE |7
3
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41 Vincent made a flash lamp for his Science project. He set up the electric circuit
using two bulbs and two batteries in working condition as shown.

bulb X ' - bulb Y

bution

r

bé_ttery : -

fixed metal plate -

However when Vincent pressed the button bulbs X and Y did not I!ght up.

: _ {a)- : Draw a circuit below to correct Vmcent’s mfstake(s) ' {21

Kéy:

Sound _
' Vlncent dec;ded to add a sound box 20 h:s ﬁash iamp Oniy when the swntch is
’ closed ihe sound box will ring without dsmmmg the bulbs.
| (b} ' Draw on your circuit in {(a} how yp_y_ _w_pul_ﬁ co_nr_zec_:t the soundbox. - 1 ]'

' {c) Draw a X' in the circuit in (a) to show where another swztch should be placed _
such that it controls only the sound box L . [1}-

o _ SCORE
- . ACS (Junior) P5 Semestral Assessment 2021
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SCHOOL :  ACS PRIMARY SCHOOL
LEVEL :  PRIMARY 5
SUBJECT :  SCIENCE
TERM  :  2021SA2
SECTION A
Q1 Q2 Q3 Q4 Qs Qé Q7 Qs Q9 Q10
4 4 1 2 4 3 3 3 2 4
QM1 | Q12 | Q13 | Q14 | Q15 | Qi6 | Qi7 | Q18 | Q19 | Q20
3 1 2 4 1 4 3 1 4 1
Q21 | Q22 Q23 | Q24 | Q25 | Q26 | Q27 | Q28
3 3 3 1 1 4 4 3
SECTIONB
Q29} a) C.

b) Bright coloured and gives off a sweet scent.

c) This is to increase the chances of polien grains landing on a
stigma of a flower to pollinate it followed by fertilisation in the
ovary turning it into a fruit and eﬁsuring the continuity of its -
species.

Q30) a) Light travels in a straight line

b) Sheet W is opaque.
Sheet X is transparent

c) Bigger. More light passes through the hole.

d) No. SheetY is opaque and does not allow light to pass through
so the bright patch of light will not be allowed to pass through
and the bright patch will be on sheet Y and not sheet X.

Q31) a) Black containers are able to conduct heat better than white
containers.

b) The thickness of the container and the material the container is
made of.

Pel
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¢) White. It gained heat slowerso itis a poorer conductor of heat
than black so it will not gain as much heat in the afternoon and
the bench will not be very hot and uncomfortable to sit on.

ﬂ) Wood. Wood is a poorer conductor of heat so it will gain heat
slower than steel and will also not gain as much heat in the
afternoon and will not be so hot and uncomfortable to sit on,

Q32) a} As the amount of light increases, the rate of photosynthesis for
plant Y increases.

b) Oxygen

c) X.Itwas able to make more food than Y at 50 units of light or
less, so it will be able to make sufficient food and more food
than Y to survive.

Q33}) a) Solid: Rice grains
Liquid: Mist
Gas: Water Vapour, Steam
b) i) volume ii) volume
Q34) a) Fertilisation
b} i) True ii) False iii) False iv) True
Q35) a) X: Gas
Y: Liquid

b) Water in the sea gaihs heat from the surroundings and
evaporates to form water vapour, the water vapour comes into
contact with the cooler surrounding air and loses heat to it and
condenses to form tiny water droplets in the air which is Y.

Q36) a) Condensation, Evaporation and Boiling

b) Solid: Sait
Liquid: Water

c) When the water vapour goes in, it loses heart to the cooler
condenser and condenses to form water droplets which slide
down into the test tube.

d) It gained heat from the warm water vapour in the tube.

. e)

More / Greater volume of liquid / water will be collected in X
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than.

Q37) a} When the switch was closed, it formed a closed circuit and
electricity could go through the circuit turning the iron rod into
an electromagnet, attracting the paper clips.

b) 8 was the maximum amount of paper clips the electromagnet
could attract.

c) It ensures that the number of paper clips attracted is only
affected by the number of working batteries.

Q38) a)

- Digestive Juice
: 1 {1 100g of food
b) Set-up 1. The 100g of food had a greater exposed surface area
with the digestive juice than set-up 2, increasing the speed at
which food is digested, making the mass of the food be smaller
after 2 hours. ' R '
Q39) a) It exchanges gases with the surroundings.
b) During the déy, it is closed to reduce water loss.
c) It uses the stored carbon dioxide at night to photosynthesize to
make food in the day / in the presence of light. '

Q40) a) As you age increases, your average resting heart rate
increases.

b) His heart pumps faster so that more oxygen and more digested

food in the blood can be transported to all parts of the body to

release more energy.
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